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1 - BUlEE (replication) ~ BE#(randomization) RERZHS(error control)
E-RIEHBT IR EREME - (104)

2 - {AIFESEZEMERET (completely randomized design) ~ EMEE 2T &R
(randomized complete block design)FHI T H#&R&Et(Latin square design) ?
HEPRRIAL L= ERES - (104)

3- EHRERT » EREHMERE T (efficiency) BEEME 2 B ERE 2
Al 7 (10 53)

4 - %%’—Eﬁ@%*ﬁﬁﬁ*ﬁ(analysié of variance)Z BENMHEIIA - BB HSWYY
EXBEREETERMTE ? B R A A S8 0 RS S RS FE L]
BE?(104)

5 - A NEREEEEARET R 2HSHEEANE B a, b, c, d%¥
- UERER SELERSSEERRSEWELE - BT HER IR —
BEEFSH (check) - HRLL—FRBRER Z BRI AT EIEHRLERIRE ? (10 4)
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(HEEF 9% (Arithmetic mean)

(2)FE(Median)

(3)RE(Mode)

(4)87J5(Variance)

(5)E#EfRZ=(Standard Deviation)

(6)BE{RBL(Coefficient of Variation)

(7)25 B4HHIHE (25" Percentile)

(8)75 B AIfE(75" Percentile)

(9)ZFE (Range)

(10)#8HH&E (Box Plot)

(IDZERIBRE TH8AMT 9 (Geomet ric Mean)

7 BBLE—RERR - 7E SHAOBEEACE TIRGEADIE 20 KRR B B B E—
ZERACRE  TRERETREEAN 4 T BRI A R R B TS - B
EAERARGRERTE - TERETEEE - (104)

1(0.05,20) =1.725 1(0.05,19) =1.729
1(0.025,20)=2.086  #(0.025,19) = 2.093

8. TRMTE 1,000,000 fEAKMEE AR —EEEHEY A 82 B T58I(Subtype )2 5H © (104

B AR #E A ERRY il
B BEEA - 250,000 400,000 650,000
#E B ERAl 250,000 100,000 350,000
i 500,000 500,000 1,000,000
(a)5%4 A BRBUZ MR -
(D)L BBl 7 3R -

(0)7E7 BERR FAKTAT 4 A TERLZ IS -
(0N PR EULROBLESEAAL ) REES . gk g
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9. TRREEEM 12 A Affymetrix &7 - FEABASANRE T —EERWEREEE

(10 43)

papiticl H"Ha
3700 4900
4000 5200
4200 4900

3900 5000
4100 4800
4000 4750

£ STIREEKIET - FER S EEENER E R TR MRAT AR - SR e
BRI - RS HETE - 1R, -

£0.05,10)=1.812  £0.025,10)=2.228  #(0.10,10)=1.372

£(0.05,9) =1.833 £(0.025,9)=2.262  #(0.10,9)=1.383

10. AR © (104))
()fEHEER
(2)FEHEE
(3YEHE
(4)P-value
(5) P RABIREE
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